
Some	Basic	Concept	and	Properties	of	Division 
 

1. Fill in the blanks. 

a. If the dividend is zero and the divisor is a non‐zero number, the ________ is zero. 

b. If the dividend and the divisor are the same _________ number, the quotient is 1. 

c. If the divisor is 1 and the dividend is any number, the quotient is the same number 

as the ________. 

d. 5 ÷ 5     = _______ 

e. 0 ÷ 6    = _______ 

f. 225 ÷ 225   = _______ 

g. 2465 ÷ 100  = _______ 

h. 0 ÷ 141     = _______ 

i. 631 ÷ 1000   = _______ 

j. 338 ÷ 1     = _______ 

k. 532165 ÷ 100    = _______ 

l. 0 ÷ 669      = _______ 

m. 630145 ÷ 1000    = _______ 

n. 11459 ÷ 1000    = _______ 

o. 0 ÷ 1496     = _______ 

 

 

 

	 	


